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Name: Datum: Ergebnis:
2,879 x 10 = 7,615 x 10000 =
5,972 x 100000 = 4,934 x 1000 =
4,419 x 100000 = 6,229 x 100000 =
9,389 x 100000 = 1,991 x 1000000 =
7,421 x 10000 = 2,794 x 1000 =
3,833 x 100000 = 3,65 x 1000 =
5,523 x 1000000 = 9,414 x 10000 =
9,931 x 100 = 10, 474 x 1000000 =
9,339 x 1000000 = 7,245 x 10000 =
1,217 x 100 = 1,726 x 10000 =
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5 Zehnerpotenzen
Name: Datum: Ergebnis:
2,879 x 10 =28.79 7,615 x 10000 = 76150
5,972 x 100000 = 597200 4,934 x 1000 = 4934
4,419 x 100000 = 441900 6,229 x 100000 = 622900
9, 389 x 100000 = 938900 1,991 x 1000000 = 1991000
7,421 x 10000 = 74210 2,794 x 1000 = 2794
3,833 x 100000 = 383300 3,65 x 1000 = 3650
5,523 x 1000000 = 5523000 9,414 x 10000 = 94140
9,931 x 100 =993.1 10, 474 x 1000000 = 10474000
9,339 x 1000000 = 9339000 7,245 x 10000 = 72450
1,217 x 100 = 121.7 1,726 x 10000 = 17260
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